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B IR R I L
fE¥ELT RHE Y R m3 185. 1 180. 0
R L B m3 133.9 130. 0
AL IE m2 26. 7 26. 0
AT a7 U — b 18-8-40 m3 4.0 4.0
P m2 3.2 3.0
LG I VIV 1:3 m3 0.7 0.7
ELliA T RC-40 t=20cm m2 26. 7 26. 0
KA T TR SRR [40m3 IR S 1.0 1.0
faf T 5 1.0 1.0
A L 5 1.0 1.0
779 hL 55 1.0 1.0
BT 5 1.0 1.0
W AN FLIRGE T 1500 X 1500 X 200 & AT 1.0 1.0
BT ¢ 600 BTEAD T-25 e 1.0 1.0
L TH PR & A 1.0 1.0
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/) - MEEEUE L R m3 5.6 5.0
X R AL B L=10. 3km m3 5.6 5.0 [Hesemix
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EIR:S]7 A=(1.4+1.8) /2%10. 0+1. 8/2%1. 1= m2 17.0
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NO. 0 0.0 0.0
NO. 0+1. 7 1. 19.2 9. 60 16. 27.3 13. 65 23.2
NO. 0+2. 2 0. 17.2 18. 20 9. 27.3 27. 30 13.7
NO. 0+3. 5 1. 17.2 18. 20 23. 27.3 27. 30 3b.5
NO. 0+3. 5 20. 3 9.4
NO. 0+8. 8 5. 20.3 20. 30 107. 9.4 9.40 49. 8
NO. 0+9. 3 0. 19.8 20. 05 10. 8.5 8.95 4.5
NO. 0+11. 0 1. 0.0 9.90 16. 0.0 4. 25 7.2
HEAKE > B 1.
g 185.1 133.9
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filt il i ll N = HAZ B = i
ST
a7 U —h 18-8-40 V = 3.806X7.006X0. 15 m3 4.0
F A= (3.806+7.006) X2x0. 15 m2 3.2
HEE/LHIL 1:3 V = 6.606X3.406X0. 03 m3 0.7
FEREA T RC-40 t=20cm A= 3.806X7.006 m2 26. 7
N
IR S TR 40m3 N= 5 1.0
AL = s 1.0
HERT L = s 1.0
77 v RFL N= K 1.0
H T N= e 1.0
W N PR L
27 U=k 18-8-40 V= (1.5X1.5%0.2) —(0.905"2X 7 /4X0. 2) m3 0.
Tl e = 1.5X4X0.2 m2 1.2
BbEA 1T RC-40 t=15cm A= (1.5X1.5) = (0.905"2X 7 /4) m2 1.6
ki T SD345 D13 W= (1.4X124+0. 395X 20) X 0. 9951000 t 0.02
75
s (BiKOKAE) T-25 N= K 1.0
Pk L
i L TH PR TR - AR —IL - FEfET 0y 2V 1.0
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101. 97-2. 25=99. 72
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Filt il M il H = BT g & i
a7 Y — MEEYEUE L |81
RS kK rt V=" (4. 00%3. 00-3. 5%2. 5) *2. 4=7. 80 m3 7.80
a7 Y — NERERALEL | 8RS -) m3 7. 80
a7 Y — MEEYEE L | B -]
E-WAE-W7 ina m3 5.63
a7 Y — NERERALEL | ) -] m3 5. 63
SIS R LR N N AES D3

W= (2.7+3.4)%*2%9. 92=121. 02

kg

121. 02
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+0. 00 0. 80 0. 30 0. 70 0. 40
+2. 20 2.20 1.25 0.30 0.93 0.77 0. 59 1.29
+5. 10 2.90 1.25 0. 30 0.93 0.77 0. 77 2.23
3.52
8 ik
+0. 30 1.25 0. 30 0.93 0.77
+2. 60 2.30 1.25 0. 30 0.93 0.77 0. 77 1.77
+3. 30 0.70 0. 50 0. 30 0.55 0.21 0. 49 0.34
2.11
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